Southco® Captive Fasteners

Polished Series, M3 Thread
e Simple design
 Highly polished appearance

F 17
—THREAD SIZE
—10 —|— 7 —==| (see table)
SN
on L.
(before knurl) 1 %*'3 ars
4
M3 x 0.5 slot = 0.76 !
—=i P |- -
T s To Captivate Screw
To select proper screw YOL'JD? ’\?EJJER DIMENSION Thread
rea -.
measure your outer panel THICKNESS THS'E'E“D PART screw
. . OH| F P NUMBERS through
Enter table with your thick MIN. [ mAX. hole in top U
surface of
standoff. -
BLACK screw assemhlies
13 1.7 16 51-72-410-26 ]
2.1 25 |[71]40] 23 M3x05 | 51-72-510-26 ) 1
Bring panels together.
2.9 3.3 3.2 51-72-610-26

£y
9 g BRIGHT POLISHED screw assemblies
s , SCREW
9 9 13 | 17 1.6 51-72-410-24 ¢ Thread screw tightly
“5 v into frame until under-
) 2.1 25 [71140| 23 M3x05 |51-72-510-24 o surface of screw head
'8 o completely flattens the
o > 2.9 33 3.2 51-72-610-24 raised helix. With draw
> screw to ensure it is
- 2 fully captivated.
(-}
il To Install Standoff
1. Insert stand off into hole ™ STIQ')‘D_O_F_ PR
’ 1
and flare into countersink L /\\ e <,
as shown. 06528 g o |
J St > Material and Finish
i
FI{ IT\ -— SCREWS: 302 Stainless steel.
i BACK-UP TOOL FLARING PUNCH STANDOFFS: 305 Stainless steel.
|| -—0.76 . .
. Your outer BOTH PARTS are passivated or are passiv-

panel thickness ated plus black organic coating.

NOTE: Each part number represents
Standoff Installation Tools (order separately). a screw and standoff shipped unas-
sembled, protectively packaged (bright
standoffs are bulk packaged).

L y .
. PART NUMBER Material
mTJ D| ?2 54-0-5467-11° Hardened steel NOTE: Longer screw lengths and unslotted

1016 head styles are available on special order.

Flaring punch

1
748+0.1
Back-up tool 0663'00
pre7 | % PART NUMBER Material imeter (nc
millimeter (Inc
27 - i
' | 12.7—l—' Break corners Hardened Sted ml(lil:]ré\;)ter

101.6 0.13 RAD.
Dimensions without tolerances are for reference only.

250 e products identified with this symbol are stocked subject to prior sale in one or more of our global locations. If unavailable from our facility nearest you, allow for shipping time from another facility. SOUthCO”



Southco® Captive Fasteners

Polished Series, 4-40 and 6-32 Thread
e Simple design
* Highly polished appearance

4-40 slot = (.041) — —=1 (.19) (.66)
6-32 slot = (.045)
THREAD SIZE
= (.38) === (.28) -+ (see table)S
-
(before 0(.25)  9(.30)
knurl) . *
} T
(.06) —m=]| |- —| P |- SHIPPED
——(.38) UNASSEMBLED
BLACK screw assemblies
OUTER PANEL
THICKNESS P
MIN. | NOM. | MAX. GH=(31) OH=(31)
(.05) | (.06) 51-10-406-26 51-18-406-26 (.06)
(08) | (09) 51-10-506-26 51-18-506-26 (:09)
an [ (12) 51-10-606-26 51-18-606-26 (13)
BRIGHT POLISHED screw assemblies
OUTER PANEL
THICKNESS P
MIN. | NOM. | MAX. OH=(31) OH=(31)
(05) | (.06) ) | 51-10-406-24 @ 51-18-406-24 ® (.08)
(.08) | (.09) ) | 51-10-506-24 ® 51-18-506-24 ® (.09)
(N 1 ¢12) ) | 51-10-606-24 @ 51-18-606-24 ® (13)

Standoff Installation Tools (order separately).

Flaring punch
@ (5)
f
@ |
@ (.188 £ .005)
Back-up tool
i
o |
M
L @
souchco

D ;\20 PART NUMBER
| /

0 (261%5%)
%[
(-5)—|—'

Break corners
(.005) RAD.

Material

Hardened steel.

Material

Hardened steel.

® Products identified with this symbol are stocked subject to prior sale in one or more of our global locations. If unavailable from our facility nearest you, allow for shipping time from another facility.

To Captivate Screw

SCREW
RAISED

STANDOFF HELIX il

PANEL i‘i

N . \ . 3

ﬁv

1. Thread screw through hole in top surface of standoff.

2. Bring panels together. Thread screw tightly into
frame until under surface of screw head completely
flattens the raised helix. Withdraw screw to ensure it
is fully captivated.

Material and Finish
NO. 4 SCREW: 303 Stainless steel
NO. 6 SCREW: 302 Stainless steel.
STANDOFF: 305 Stainless steel.
SCREWS and STANDOFFS are passivated.
BLACK screw assemblies have black
organic coating.

Fasteners are ordered by their assem-
bly part number but are shipped and
identified as components of the finished
assembly.

To Install Standoff

STANDOFF |
1‘ ¥ e i
T T LT
Q(.257"5%) 820 | | |
A RN IS
Your ! NE
outer [ 2 NI
{)hai(r:]lf-l «—(.030) BACK-UP FLARING
ness—=1 = TOOL PUNCH

1. Prepare panel.

2. Insert standoff into hole and flare into countersink
as shown.

millimeter (inch)

millimeter
(inch)
Dimensions without tolerances are for reference only.

251

0
Y

3
-
<
o
w
fA
)
H
("}

sidudjsey annde)




[
E Y
]
£
9
w
]
©
i
]
IE
w
2
]
v

Captive Screws

Polished Series, M4, M5, and M6 Thread
e Simple design
* Highly polished appearance

Southco® Captive Fasteners\
N

—= F 24
14 10 —=f
~THREAD -
0= SIZE (see table) To Captivate Screw
16 ? t
on 1|
(before g11.1 g13.1 RAISED
knurl) Z_ 1 ‘ & HELIX
SHIPPED .t I S\
UNASSEMBLED
1. Thread screw through hole in top surface of standoff.
DIMENSIONS THREAD PART Each part number represents a screw and 2. Bring panels together.
P | oH | D | F | sizE NUMBERS standoff shipped unassembled, protectively 3. T?read silre“(/1 UghllYllﬂ“l) fflﬁme “nﬁl Uﬂdef(islllnfﬂce
. of screw head completely flattens the raised helix.

BLACK screw assemblies packaged (bnght standoffs are bulk paCkaged)' Withdraw screw to ensure it is fully captivated .
3.2 51-74-7114-26
481103 1.6 | 6.0 | M4 X0.7| 51-74-814-26
6.3 51-74-914-26 Yogg%:‘er Select an Use this
3.2 51-76-714-26 Thickness ass%rp s ly installation
48|11.1]| 1.6 | 6.3|M5 X 0.8| 51-76-814-26 . of: method
6.3 51-76-914-26 To Select Proper MIN. MAX. o
3.2 51-77-414-26 1.6 1.9 3.2 B
481143 23| 6.3|M6 X 1.0| 51-77-514-26 screw Assembly 2.3 3.6 4.8 B
63 517761226 1. Measure your outer panel thickness and enter 28 36 32 A

_ SCREW ASSEMBLY SELECTION TABLE (right) : : .

BRIGHT POLISHED screw assemblies ith hickn 3.9 5.2 6.3 B
3.2 51-74-T14-24 ¢ with your thickness. 4.4 5.2 48 A
4.810.3( 1.6 | 6.0 |M4X 0.7 51-74-814-24¢ | ) Read across to find P dimension and installa- 5.9 6.7 6.3 A
63 51-74-914-24 » tion method (A or B).

3.2 51-76-714-24 Material d Finish
48|11.1| 16| 63| M5Xx0.8[ 517681424 | 3. Enter ASSEMBLY PART NUMBER TABLE (right) aterial an Inis
6.3 51-76-914-24 with your P dimension, at section having your SCREWS: 302 Stainless steel.
3.2 51-77-414-24 ¢ desired thread size, and read across to find STANDOFFS: 305 Stainless steel.
4.8114.3| 23| 6.3|M6X1.0| 51-77-514-24 correct aSSCmbly part number. BOTH PARTS are passivated Or are passiv-
63 517761424 2 ated with black organic coating.
4 To Install Standoff Standoff Installation Tools )
(Order separately)
Back-up tool
Method A Method B ¥ 011.5+0.1 3
Your PART NUMBER
outer panel g19
s thickness o I 90-2825-11
g11.173 211173 =2 -
N 5o - I t‘» z:o ) 19 Material
t 1 t | 102 Break corners i
Al g ks L 0.13 rad. Mild steel.
Countersink as shown. No further preparation required. Flaring punch
PART NUMBER
) ) 219 82° [ 90-2824-11
¥ 1 ? ‘l\ =
_ _ _ f 7.9-»] Material
Flare standoff into countersink. Flare standoff behind panel as 102
\ Back-up tool must be used. shown. Back-up tool must be used. 1 Hardened steel. j
millimeter (inch)
millimeter
(inch)
Dimensions without tolerances are for reference only.

252

® Products identified with this symbol are stocked subject to prior sale in one or more of our global locations. If unavailable from our facility nearest you, allow for shipping time from another facility.

southco



Southco® Captive Fasteners

Polished Series,
8-32, 10-32 and 1/4-20 Thread

* Highly polished appearance

(.94)
| (.56)—=]

—(.38) =

knurl)

‘ :

OH D
(.69) (.13)
(.56) (.09)
(.44) (.06)

P 832 1032 1/4-20 11420
(13) 51-17-709-26 51-16-709-26 51-11-409-26 51-11-109-26
51-17-809-26 51-16-809-26 51-11-509-26 51-11-209-26
51-17-909-26 51-16-909-26 51-11-609-26 51-11-309-26
Slotted BRIGHT POLISHED screw assemblies

O H=(.44) OH= (56)

P 8-32 10-32 1/4-20 1/4-20
(13) 51-17-709-24 ® 51-16-709-24 ® 51-11-409-24 ® 51-11-109-24 ®
(19 51-17-809-24 ® 51-16-809-24 ® 51-11-509-24 ® 51-11-209-24 ®
(25 51-17-909-24 ® 51-16-909-24 ® 51-11-609-24 ® 51-11-309-24 ®

Standoff Installation Tools
(Order separately)
Back-up tool
¥ 211.5+0.1 i P .
. PART NUMBER Material
75 .
(78) Mild steel.
[} .75/
4) Break corners
(.005) rad.
Flaring punch
PART NUMBER Material
0 (.75) 827 Hardened steel.
f | (:31)-= }.
| (4) !

N

To Captivate Screw

SCREW

RAISED
HELIX

STAND-

1. Thread screw through hole in top surface of standoff.

2. Bring panels together.

3. Thread screw tightly into frame until under surface
of screw head completely flattens the raised helix.
Withdraw screw to ensure it is fully captivated.

Material and Finish
SCREWS: 302 Stainless steel.
STANDOFES: 305 Stainless steel.
SCREWS and STANDOFES are passivated or are
passivated and have black organic coating.

TO SELECT PROPER

SCREW ASSEMBLY

1. Measure your outer panel thickness and enter table
(below) with your thickness.

2. Read across to find P dimension and installation
method (A or B).

3. Enter part number table with your P dimension and
read across to find correct assembly part number
under head and thread size desired.

Outer Panel Select an h
) Use this
Thickness as\;ﬁ?}: ly installation
di . method

MIN. MAX. im. of:

(.06) (.08) (13) B

(.09) (.14) (19) B

(.11) (.14) (.13) A

(.16) (.20) (.25) B

(.17) (.20) (.19) A

(.23) (27) (.25) A

To Install Standoff

Method A Method B
r__’i @(.437{_ 005)

i
o v
4‘82“-‘> 4’(‘06) L(')u(er panel thickness

No further preparation required

—

Flare standoff behind panel as
shown. Back-up tool must be used.

s

Countersink as shown.

=

t 1
Flare standoff into countersink.
Back-up tool must be used

/

southco

® Products identified with this symbol are stocked subject to prior sale in one or more of our global locations. If unavailable from our facility nearest you, allow for shipping time from another facility.

millimeter (inch)

millimeter
(inch)

Dimensions without tolerances are for reference only.

253

0
Y

3
-
<
o
w
fA
)
H
("}

sidudjsey annde)




